Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: December 9, 2015

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

1st Publication

DD NO	DARTICHIARS	APPROVED	FUND COURCE	
PR NO.	PARTICULARS	BUDGET COST	FUND SOURCE	
	Flood Control Project at			
300-15-12-230	MAG-CREEK Protection	3,527,564.00	Trust Fund	
	Dike			

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	LOT	Furnishing of Labor, Materials and Equipment for the Flood Control Project at MAG-CREEK Protection Dike, Braulio E. Dujali			
		SCOPE OF WORK			
	sq.m	CLEARING AND GRUBBING	3,200	8.50	27,200.00
		EMBANKMENT			1,904,000.00
		SURPLUS COMMON EXCAVATION			1,577,600.00
		BILLBOARD			6,764.00
		MATTING (COCO TRUNKS)			12,000.00
		Labor			
		TOTAL			3,527,564.00

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
300-15-10-171	Construction Materials & Supplies (for the Construction of Evacuation Center Phase 1)		Trust Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	bags	Portland Cement	219	275.00	60,225.00
2	pcs	4" thk. CHB	800	13.00	10,400.00
3	cu.m	washed sand	15	485.00	7,275.00
4	cu.m	washed gravel	6	495.00	2,970.00
5	pcs	12mm Ø x 6m RSB	220	265.00	58,300.00
6	pcs	10mm Ø x 6m RSB	204	210.00	42,840.00

7	kilo	G.I Tie Wire # 16	38	110.00	4,180.00
8	pcs	2 x 2 x 10' Coco Lumber	150	60.00	9,000.00
9	pcs	2 x 4 x 10' Coco Lumber	80	120.00	9,600.00
10	pcs	1/2" thk. Marine plywood	15	950.00	14,250.00
11	keg	CW nails # 4	1	1,900.00	1,900.00
12	keg	CW nails # 3	1	1,950.00	1,950.00
13	kilo	CW nails # 2 1/2	10	85.00	850.00
14	kilo	CW nails # 1 1/2	6	90.00	540.00
15	pcs	4.5mm thk. X 2 1/2" x 2 1/2" angle bar	35	2,750.00	96,250.00
16	pcs	4.5mm thk. X 2" x 2" angle bar	60	2,100.00	126,000.00
17	pcs	4" cee purlins 1.5	104	585.00	60,840.00
18	kilo	Welding Rods 7018	20	205.00	4,100.00
19	kilo	Welding Rods 6818	20	190.00	3,800.00
20	pcs	Turnbuckle #16	16	95.00	1,520.00
21	ln.m	Rib Type color roof brown color 0.40mm x 6.50m	458	420.00	192,360.00
22	pcs	Ridge Cap 0.4mm x 3m beige color	48	185.00	8,880.00
23	pcs	Tekz screw	1,800	2.50	4,500.00
24	gals	red oxide metal primer	4	550.00	2,200.00
25	pcs	10mm Ø x 6m plain round bar sag rod	14	235.00	3,290.00
		TOTAL			728,020.00

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
300-15-10-197	Rescue Boat with Trailer	490,000.00	Trust Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	unit	RESCUE BOAT WITH TRAILER		490,000.00	490,000.00
		Specification:			
		DIMENSION : 14 feet length x 5 feet and 6			
		inches width			
		CAPACITY: 8-12 person			
		ENGINE CAPACITY: 30 TO 40 horsepower			
		MATERIALS: Polyurethane Plastic Rigid			
		COLOR: Blue			
		THICKNESS: 10MM Double Hull			
		ENGINE: 30 and above Hp Mercury Two			
		Stroke Engine			
		Inclusion:			
		4 pcs. Paddle			
		4 pcs Life Jacket			
		Free Training Boat handling and Maneuvering			
		TOTAL			490,000.00

	PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
;	300-15-10-207	DIESEL GENERATOR SET	409,998.00	Trust Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	unit	Diesel Generator Set	3	136,666.00	409,998.00
		GENERATOR SPECIFICATION:			
		Rated frequency (Hz): 60			
		Rated voltage (V): 220			
		Rated output power (kva): 8.5			
		rated rotation speed (rpm): 3600			
		DC output 12V7A			
		Power factor cos: 1			
		Phase number Single: Phase			
		Excitation mode: Self-excitation Brush type Noise level dB (A)/7m(Zero load-full load): 70- 74			
		Overall dimension [mm(in)] (LxWxH):			
		970x580x785(3819x22.83x30.91)			
		Structural Model: Silent			
		Connection mode: single bearing, rotor drive shaft			
		ENGINE SPECIFICATION TYPE:			
		Engine Type: Single Cylinder, 4 stroke, air- cooled, vertical, diesel engine			
		Displacement [cm (cu-in)]: 406(24.78)			
		Compression ratio: 19:1			
		Rated power [kW (Hp)/rpm]: (8.6)/3600			
		Starting System: ELECTRIC Start			
		Rotation direction (view from wheel):			
		Clockwise			
		Fuel type: 0# (summer), -10#(winter) diesel oil			
		Lube brandL SAE10W30 (above CC grade)			
		Low oil pressure alarm			
		TOTAL			409,998.00

DP NO	DADTICIII ADS	APPROVED BUDGET	ELIND SOLIBCE

FR NO.	FARTICULARS	COST	FUIND SOUNCE
300-15-12-227	Subdivision Survey of BEDHOMES Project	149,400.00	Trust Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	lots	BEDHOMES Subdivision design and plan, survey returns and document preparation, approval to the Bureau of Lands, monumenting, relocation and ground survey of Lot 184-A	83	1,800.00	149,400.00
		TOTAL			149,400.00

2nd Publication

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
300-15-11-209	Vehicle (Motorcycle)	75,000.00	Trust Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	unit	XRM 125	1	75,000.00	75,000.00
	•				
		TOTAL			75,000.00

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
300-15-10-183	Petroleum, Oil & Lubricants	1,488,500.00	Trust Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	Lot	Petroleum, Oil & Lubricants	1	1,488,500.00	1,488,500.00
		TOTAL			1,488,500.00

|--|

Venue of Pre-bid Conference	Conference room, Mayor's Office this municipality		
Deadline of Submission Technical & Financial Documents	January 5, 2016 not later than 12:00 o'clock noon		
IC) DADING OF KIGS	<u>January 5, 2016</u> at 2:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality		

List of Eligibility Documents are available during office hours at the BAC Secretariat Office, 1st floor, Municipal Hall. Bid documents with complete listing and specifications of the items for bidding shall be issued only to bidders upon payment of a non-refundable Fee as prescribed below:

PARTICULAR	Amount of ABC	Fee
Flood Control Project at MAG-CREEK Protection Dike	3,527,564.00	5,000.00
Construction Materials & Supplies (for the Construction of Evacuation Center Phase 1)	728,020.00	1,000.00
Rescue Boat with Trailer	490,000.00	500.00
DIESEL GENERATOR SET	409,998.00	500.00
Subdivision Survey of BEDHOMES Project	149,400.00	500.00
Vehicle (Motorcycle)	75,000.00	500.00
Petroleum, Oil & Lubricants	1,488,500.00	1,500.00

All particulars relative to the Eligibility screening bid bond, Pre-bid conference, Submission, Evaluation of Bids, Post-Qualifications of the Lowest calculated and responsive bid, and Security shall be governed by the provision of existing laws, rules and regulations.

MBED reserves the right to reject any and all bids, to waive any informality, and to annul the bidding process and reject all bids anytime prior award of contract without thereby incurring any liability to the affected bidders or any obligation to inform the affected bidder or bidders of the ground for MBED's action and accept such bid as may be considered advantageous to MBED.

For inquiries, clarification and more information, please call Cell No. <u>09066561448.</u>

RAFAEL L. ALCONES BAC Chairperson